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Question 3 > \F is MGT MOhOTA)bUL_ $ ‘Y‘ \\5

Determine whether or not the given function is one-to-one and, if so, find theN OT \~\
Question 1 inverse. If 1’(1) =(-3z - 5)4 has an inverse, give the domain of f . /

Quiz 15

Determine whether or not the given function is one-to-one and, if qo find the
mveme If f(z) — 6x - 5 has an inverse, gne the domain of f T

_5» D( “6 >0 _> _F s \ a 8_\‘1:0()’: 6X ~G5 a) f Hx) = T domain: (20, oc) 4{-\ -Fo(): 5<I~L+X> ()‘qxj
Notone-to-one. @ Swtinx 9\‘6' $ X:Gg‘ b) Not one-to-one = 5 : (—l bf) (,l\q’%q)z

® ~ i
b) f Yy = —7 4 — ; domain: {~cc, 00) Solue % j{ % R ) = (5.1 32)" 4 Jomau: ( . ;) - —LL&XBU-L(.)(‘*)?_

) f Ya) = 1 a£ g : domain: {5, ) [ X_\-b - ) /
6 6 d) f l(J!J _ ) ; domain: (-joc) —@ &X)?D a5 X< 0
d) f (&)~ 6zx 5:domain: ( oo, o) ‘)( —\> — \K N 2\ —516()40 s Yoo
5 e [ Yz)- L-—;—;C—— ; domain: (0. co)

e} . f (&)= 6r + 5; domain: (—oo, 5) ~——-—"'—’—“\<> .F B MQT MOWD—DWLQ
Question 2 Question 4 ?3‘9 3 )\}DT \‘\.

Determine whether or not the given function is ane-to-one and, if 5o, find the Determine whether or not the given function is one-to-one and, if so, find the
. 5 . ’ 3 )
wverse. If f(x) = x° — 4z + 1 has an mverse, give the domain of f ! mverse. If f(z) — (1 4 .‘1;4) has an inverse, give the domain of f '

~f—(>()\ >x—Y > -9/(X)>o oS ><>— ek
f

Hz) = vz + 3+ 2; domain: (- 3,20) ’ N 1 4 1 H. o )
‘?O()co AS )(<12 a o f =) RN 1 ; domain: (0.0c)

b) Not one-tu-one.

) @ QF rS NQT Mo V\Dﬁ)v\k b) Not one-to-one
’ ARICR L .
% 'F \% \\] DT | — \ ) ©) f U r)=(1-4r ) ; domain: (—oc. 00)

d) - f Ya)= vz 3 2 domain: ( 3,20)

— 1 1
€) f (=) =7 1 domain: (—1 o

o - F @) -(1 4.1'4)1 ®. domain: (0,)
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1 1\
e) i) - ( Z.tl" . 1) : domain: { - 20, o¢)

Question 5

Determine whether or not the given function 1s one-to-one and, if so, find the
: T W

£ (x)é -2 2 S

. 3
inverse: f(w) — 5 cos{r) with <

: 2
a) f )= Rl'C(‘Ob(E :‘n)

3 mp—
b) f 1(.1-) =3 sec(x) "'.T-L O T

2 > x
v =7 NOT moneTsua
d) JAMEE ‘—2,5'111(.1;) \_? /\)DT ‘_‘\/

e) F ) = scc(i 1-.)

’

Question 6

Given the following function, with k as a constant, find the values of & for

3 _/'2m2 =~ ka is one-to-one. D(:F):—[R
Too= xX-4x+tk

DU 2 () — Gtk

by ks

: = (X=2)—dtk

c) k>4
:7{3/0670 on IR_ 1} ~4tk o
3of6 =-> %/320%)1'23 PM
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d) — < k=
e) 4<k<4
Question 7

Suppose that f has an inverse and f(4) =
' It
(£ 1) a b iy Y=y

/
ay 2 .3?4 =
: (D F1(4)

£ )= ’/oap ~3X~3
‘ QM WQU)=*3‘5= ~6

Thon (5 )(-W )L \?’

1 15 differentiable and has an inverse and

1 (4 ! What i
“. 11 1at 1S

Question 8

Suppose that f(x) = —2* - 3

f(‘l‘) ‘L? Find (f I)I( 5).

0 b
. 1
) 12
b) !
6
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1

) —§ b) 2
b 1 c) d

‘ 5
d) 1

1

e) -

3 e) 4

Question 9

Suppose that f(r) = 8r — 3 cosw is differentiable and has an inverse and

1(5) =g rma (1Y am)
b s 0Nm=T -9 2)=53=56
a Pz fwm=d wc =& -33ihx % §B=3-5

o 5 P (Fueme |
, Jem y 5
o ' ~ [y X ~KH) . =2 / -5
d) % ‘F[’)):'Z = ‘F P)=3. 2\ -'51(7( - W) O(\Dl ahol "9(3)1 T:\é
e} :) ‘{ ———-——/ —~ —_—
| = F)e)= T - =
2

Question 10 "? > -
x

Suppose that f(2) =

1 1s differentiable and has an inverse tor z > 1

’

and f(3) = 2 Find (fl 1) {2)

i\ \t
A b
a) 2
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